CHg n 1
Ctyy n 1.5

2 4,100 nm
450 m
40
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1 300

B
1

SHEREA 4 6 8 10 12 2 B
R 6.8 5.1 6.0 8.2 6.2 6.2 1.7

A R
RKNL=NLTET—} 19.6 22.3 20.8 25.7 21.5 24.0 5.6
BTz 13.5 16.1 17.4 16.5 10.9 16.3 2.7
a-Bi> 11.9  13.0 13.7 12.8 8.4 125 16.9
R 9% 9.3 2.8 2.2 2.3 6.0 2.2 1.7
B-7=F7FL> 5.5 3.6 11.1 2.3 2.3 6.1 25.5
B-EAR 4.7 5.1 7.1 2.2 3.6 4.5 15.9
Hr T 2.6 2.3 2.5 2.2 2.7 2.2 0.2
PNV 1.1 0.5. 1.5 0.8 1.3 0.9 0.1
B-HVAT7 4L 0.8 1.1 1.4 0.7 0.9 0.7 0.1
Ik 0.7 1.2 0.8 0.5 0.8 1.1 0.7

a ml/100g

b
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HEHRESE R SR e o
1986 4R 3.16 118
6 A 3.22 151
8 AR 3.04 152
10A 2.53 135
12RH 2.83 127
1987 2R 2.61 146
a mg g
b mg kg
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